

APPROXIMATING COMMON FIXED POINTS OF ASYMPTOTICALLY NONEXPANSIVE MAPPINGS

YEOL JE CHO, JUNG IM KANG, AND HAIYUN ZHOU

ABSTRACT. In this paper, we deal with approximations of common fixed points of the iterative sequences with errors for three asymptotically nonexpansive mappings in a uniformly convex Banach space. Our results generalize and improve the corresponding results of Khan and Takahashi, Schu, Takahashi and Tamura, and others.

Let C be a nonempty subset of a real Banach space E , $T : C \rightarrow C$ be a mapping and $F(T)$ denote the set of fixed points of the mapping T . The mapping T is said to be *asymptotically nonexpansive* if, for a sequence $\{k_n\} \subset [1, \infty)$ with $k_n \rightarrow 1$ as $n \rightarrow \infty$,

$$\|T^n x - T^n y\| \leq k_n \|x - y\|$$

for all $x, y \in C$ and $n \geq 1$. The mapping T is said to be *uniformly L -Lipschitzian* if there exists a positive number L such that

$$\|T^n x - T^n y\| \leq L \|x - y\|$$

for all $x, y \in C$ and $n \geq 1$. The mapping T is said to be *nonexpansive* if

$$\|Tx - Ty\| \leq \|x - y\|$$

Received April 27, 2003.

2000 Mathematics Subject Classification: 47H17, 47H05, 47H10.

Key words and phrases: uniformly convex Banach space, asymptotically nonexpansive mapping, nonexpansive and quasi-nonexpansive mappings, uniformly L -continuous mapping, the modified Ishikawa iterative sequence with errors, common fixed point.

This paper was supported financially from the Korea Research Foundation Grant (KRF 2001-005-D00002).

for all $x, y \in C$. The mapping T is said to be *quasi-nonexpansive* if $F(T) \neq \emptyset$ and

$$\|Tx - y\| \leq \|x - y\|$$

for all $x \in C$ and $y \in F(T)$.

Note that every uniformly L -Lipschitzian mapping with $L = 1$ is nonexpansive and, in 1972, Goebel and Kirk[3] introduced initially the concept of asymptotically nonexpansive mappings, which are more general than nonexpansive and quasi-nonexpansive mappings, and proved that, if C is a nonempty bounded closed convex subset of a uniformly convex Banach space E , then every asymptotically nonexpansive self-mapping T of C has a fixed point in C . Moreover, the fixed point set $F(T)$ is closed and convex. Since 1972, many authors have studied weak and strong convergence problems of the iterative sequences (with errors) for asymptotically nonexpansive mapping types in Hilbert spaces and Banach spaces (see [1]).

In [2], Das and Debata considered the iterative sequence $\{x_n\}$ for two quasi-nonexpansive self-mappings S and T of C defined by

$$\begin{cases} x_1 \in C, \\ x_{n+1} = (1 - a_n)x_n + a_n S y_n, & n \geq 1, \\ y_n = (1 - b_n)x_n + b_n T x_n, & n \geq 1, \end{cases}$$

where $\{a_n\}$ and $\{b_n\}$ are some sequences in $[0,1]$.

In [10], Takahashi and Tamura proved some convergence theorems of the above sequence for two nonexpansive mappings.

Recently, Khan and Takahashi considered the problems of approximating common fixed points of two asymptotically nonexpansive self-mappings S and T of C through weak and strong convergence of the iterative sequence $\{x_n\}$ defined by

$$(A) \quad \begin{cases} x_1 \in C, \\ x_{n+1} = (1 - a_n)x_n + a_n S^n y_n, & n \geq 1, \\ y_n = (1 - b_n)x_n + b_n T^n x_n, & n \geq 1, \end{cases}$$

where $\{a_n\}$ and $\{b_n\}$ are some sequences in $[0,1]$.

Let C be a nonempty subset of a real Banach space E and $T_i : C \rightarrow C$ be three asymptotically nonexpansive mappings for $i = 1, 2, 3$. Consider

the following iterative sequence $\{x_n\}$ with errors defined by

$$(B) \quad \begin{cases} x_1 \in C, \\ z_n = (1 - \gamma_n - \nu_n)x_n + \gamma_n T_1^n x_n + \nu_n u_n, & n \geq 1, \\ y_n = (1 - \beta_n - \mu_n)x_n + \beta_n T_2^n z_n + \mu_n v_n, & n \geq 1, \\ x_{n+1} = (1 - \alpha_n - \lambda_n)x_n + \alpha_n T_3^n y_n + \lambda_n w_n, & n \geq 1, \end{cases}$$

where $0 < a \leq \alpha_n, \beta_n, \gamma_n \leq b < 1$, $\sum_{n=1}^\infty \lambda_n < +\infty$, $\sum_{n=1}^\infty \mu_n < +\infty$ and $\sum_{n=1}^\infty \nu_n < +\infty$, $\{u_n\}$ and $\{v_n\}$ are two bounded sequences in C .

Note that the sequence defined by (B) deduces to the sequence defined by (A).

In this paper, we deal with approximations of common fixed points of the iterative sequences $\{x_n\}$ with errors defined by (B) for three asymptotically nonexpansive mappings in a uniformly convex Banach space. Our results generalize and improve the corresponding results of Das and Debata[2], Khan and Takahashi[5, 6], Schu[8, 9], Takahashi and Tamura[10], and others.

We need the following lemmas for our main results in this paper.

LEMMA 1. [8] *Let E be a uniformly convex Banach space and $0 < a \leq t_n \leq b < 1$ for all $n \geq 1$. Suppose that $\{x_n\}$ and $\{y_n\}$ are sequences in E satisfying the following:*

$$\limsup_{n \rightarrow \infty} \|x_n\| \leq r, \quad \limsup_{n \rightarrow \infty} \|y_n\| \leq r, \quad \lim_{n \rightarrow \infty} \|t_n x_n + (1 - t_n)y_n\| = r$$

for some $r \geq 0$. Then $\lim_{n \rightarrow \infty} \|x_n - y_n\| = 0$.

We recall that a Banach space E is said to satisfy *Opial's condition* [7] if, for any sequence $\{x_n\}$ in E , $x_n \rightarrow x$ weakly implies that

$$\limsup_{n \rightarrow \infty} \|x_n - x\| < \limsup_{n \rightarrow \infty} \|x_n - y\|$$

for all $y \in E$ with $y \neq x$.

LEMMA 2. [4] *Let E be a uniformly convex Banach space satisfying Opial's condition and C be a nonempty closed and convex subset of E . Let $T : C \rightarrow C$ be an asymptotically nonexpansive mapping. Then $I - T$ is demi-closed with respect to zero, i.e., for any sequence $\{x_n\}$ in C with $x_n \rightarrow x$ weakly and $x_n - Tx_n \rightarrow 0$, we have $x = Tx$.*

LEMMA 3. Let E be a normed linear space and C be a nonempty closed and convex subset of E . Let $T_i : C \rightarrow C$ be uniformly L -Lipschitzian mappings for $i = 1, 2, 3$. Let $\{x_n\}$ be the sequence defined by (B). If

$$\lim_{n \rightarrow \infty} \|x_n - T_i^n x_n\| = 0, \quad \lim_{n \rightarrow \infty} \|x_n - x_{n+1}\| = 0,$$

then $\lim_{n \rightarrow \infty} \|x_n - T_i x_n\| = 0$.

Proof. Since T_i is uniformly L -Lipschitzian mappings for $i = 1, 2, 3$, we have

$$\begin{aligned} & \|x_{n+1} - T_i x_{n+1}\| \\ & \leq \|x_{n+1} - T_i^{n+1} x_{n+1}\| + \|T_i^{n+1} x_{n+1} - T_i x_{n+1}\| \\ & \leq c_{n+1} + L \|T_i^n x_{n+1} - x_{n+1}\| \\ & \leq c_{n+1} + L (\|x_{n+1} - x_n\| + \|x_n - T_i^n x_n\| + \|T_i^n x_n - T_i^n x_{n+1}\|) \\ & \leq c_{n+1} + L(L+1) \|x_{n+1} - x_n\| + Lc_n \\ & \rightarrow 0 \quad (n \rightarrow \infty), \end{aligned}$$

where $c_n = \|x_n - T_i^n x_n\|$. This completes the proof.

REMARK 1. Lemma 3 generalizes the corresponding lemma of Schu [9] for one mapping. Further, if $F = \bigcap_{i=1}^3 F(T_i) \neq \emptyset$ and

$$\lim_{n \rightarrow \infty} \|x_n - T_i^n x_n\| = 0 \quad (i = 1, 2, 3),$$

then we have $\lim_{n \rightarrow \infty} \|x_n - x_{n+1}\| = 0$.

LEMMA 4. [11] Let $\{a_n\}$, $\{b_n\}$ and $\{\delta_n\}$ be sequences of nonnegative real numbers satisfying

$$a_{n+1} \leq (1 + \delta_n)a_n + b_n.$$

If $\sum_{n=1}^{\infty} \delta_n < \infty$ and $\sum_{n=1}^{\infty} b_n < \infty$, then $\lim_{n \rightarrow \infty} a_n$ exists. In particular, if $\{a_n\}$ has a subsequence converging to zero, then $\lim_{n \rightarrow \infty} a_n = 0$.

THEOREM 5. Let E be a uniformly convex Banach space, C be a nonempty closed convex subset of E and $T_i : C \rightarrow C$ be three mappings for $i = 1, 2, 3$ satisfying

$$\|T_1^n x - T_1^n y\| \leq k_n^{(1)} \|x - y\|,$$

$$\|T_2^n x - T_2^n y\| \leq k_n^{(2)} \|x - y\|,$$

$$\|T_3^n x - T_3^n y\| \leq k_n^{(3)} \|x - y\|$$

for all $x, y \in C$ and $n \geq 1$, where $\{k_n^{(i)}\} \subset [1, \infty)$ for $i = 1, 2, 3$ satisfy $k_n^{(i)} \rightarrow 1$ as $n \rightarrow \infty$ ($i = 1, 2, 3$) and $\sum_{n=1}^{\infty} (\prod_{i=1}^3 k_n^{(i)} - 1) < \infty$. Let $\{x_n\}$ be the sequence defined by (B). If $F = \bigcap_{i=1}^3 F(T_i) \neq \emptyset$, then we have the following:

- (1) $\lim_{n \rightarrow \infty} \|x_n - p\|$ exists for all $p \in F$.
- (2) $\lim_{n \rightarrow \infty} \|x_n - T_i x_n\| = 0$ ($i = 1, 2, 3$).

Proof. For any $p \in F$, set

$$M = \max \left\{ \sup_{n \geq 1} \|u_n - p\|, \sup_{n \geq 1} \|v_n - p\|, \sup_{n \geq 1} \|w_n - p\| \right\}.$$

By using (B), then we have

$$\begin{aligned} & \|z_n - p\| \\ & \leq (1 - \gamma_n - \nu_n) \|x_n - p\| + \gamma_n k_n^{(1)} \|x_n - p\| + \nu_n \|u_n - p\| \\ & \leq [1 + \gamma_n (k_n^{(1)} - 1)] \|x_n - p\| + M \nu_n \\ & \leq k_n^{(1)} \|x_n - p\| + M \nu_n \end{aligned}$$

and

$$\begin{aligned} & \|y_n - p\| \\ & \leq (1 - \beta_n - \mu_n) \|x_n - p\| + \beta_n k_n^{(2)} \|z_n - p\| + \mu_n \|v_n - p\| \\ & \leq (1 - \beta_n) \|x_n - p\| + \beta_n k_n^{(1)} k_n^{(2)} \|x_n - p\| + k_n^{(2)} \nu_n M + \mu_n M \\ & \leq k_n^{(1)} k_n^{(2)} \|x_n - p\| + (\nu_n + \mu_n) M_1, \end{aligned}$$

where $M_1 = \sup_{n \geq 1} \{k_n^{(2)}\} M$, and

$$\begin{aligned} & \|x_{n+1} - p\| \\ & \leq (1 - \alpha_n - \lambda_n) \|x_n - p\| + \alpha_n k_n^{(3)} \|y_n - p\| + M \lambda_n \\ & \leq (1 - \alpha_n + \alpha_n k_n^{(1)} k_n^{(2)} k_n^{(3)}) \|x_n - p\| + (\lambda_n + \mu_n + \nu_n) M_2 \\ & \leq [1 + (k_n^{(1)} k_n^{(2)} k_n^{(3)} - 1)] \|x_n - p\| + (\lambda_n + \mu_n + \nu_n) M_2, \end{aligned}$$

where $M_2 = \sup_{n \geq 1} \{k_n^{(3)}\} M_1$. By Lemma 4, we have $\lim_{n \rightarrow \infty} \|x_n - p\|$ exists, says $r \geq 0$. In particular, $\{\|x_n - p\|\}$ is bounded and hence so are $\{\|y_n - p\|\}$ and $\{\|T_3^n y_n - p\|\}$. Observe that

$$\begin{aligned} x_{n+1} - p + \lambda_n(T_3^n y_n - w_n) &= (1 - \alpha_n - \lambda_n)(x_n - p) + (\alpha_n + \lambda_n)(T_3^n y_n - p). \end{aligned}$$

Noting that $\lambda_n(T_3^n y_n - w_n) \rightarrow 0$ as $n \rightarrow \infty$, then we have

$$\lim_{n \rightarrow \infty} \|x_{n+1} - p + \lambda_n(T_3^n y_n - w_n)\| = r,$$

which implies that

$$\lim_{n \rightarrow \infty} \|(1 - \alpha_n - \lambda_n)(x_n - p) + (\alpha_n + \lambda_n)(T_3^n y_n - p)\| = r,$$

while we have

$$\begin{aligned} \limsup_{n \rightarrow \infty} \|x_n - p\| &= \lim_{n \rightarrow \infty} \|x_n - p\| = r, \\ \limsup_{n \rightarrow \infty} \|T_3^n y_n - p\| &\leq \limsup_{n \rightarrow \infty} \|y_n - p\| \\ &\leq \limsup_{n \rightarrow \infty} [k_n^{(1)} k_n^{(2)} \|x_n - p\| + (\nu_n + \mu_n) M_1] \\ &\leq \lim_{n \rightarrow \infty} \|x_n - p\| \\ &= r. \end{aligned}$$

Thus it follows from Lemma 1 that $\lim_{n \rightarrow \infty} \|x_n - T_3^n y_n\| = 0$. Since

$$\begin{aligned} \|x_n - p\| &\leq \|x_n - T_3^n y_n\| + \|T_3^n y_n - p\| \\ &\leq \|x_n - T_3^n y_n\| + k_n^{(3)} \|y_n - p\|, \end{aligned}$$

we have $\liminf_{n \rightarrow \infty} \|y_n - p\| \geq r$ and hence $\lim_{n \rightarrow \infty} \|y_n - p\| = r$. Observe that

$$\begin{aligned} y_n - p + \mu_n(T_2^n z_n - v_n) &= [1 - (\beta_n + \mu_n)](x_n - p) + (\beta_n + \mu_n)(T_2^n z_n - p). \end{aligned}$$

Noting that $\mu_n(T_2^n z_n - v_n) \rightarrow 0$ as $n \rightarrow \infty$, then we conclude that

$$\lim_{n \rightarrow \infty} \|y_n - p + \mu_n(T_2^n z_n - v_n)\| = r,$$

which implies that

$$\lim_{n \rightarrow \infty} \|[1 - (\beta_n + \mu_n)](x_n - p) + (\beta_n + \mu_n)(T_2^n z_n - p)\| = r,$$

while we have

$$\begin{aligned} \limsup_{n \rightarrow \infty} \|T_2^n z_n - p\| &\leq \limsup_{n \rightarrow \infty} (k_n^{(2)} \|z_n - p\|) \\ &\leq \limsup_{n \rightarrow \infty} \|z_n - p\| \\ &\leq \limsup_{n \rightarrow \infty} \|x_n - p\| \\ &= r. \end{aligned}$$

Therefore, by Lemma 1, we assert that $\lim_{n \rightarrow \infty} \|x_n - T_2^n z_n\| = 0$. Since

$$\begin{aligned} \|x_n - p\| &\leq \|x_n - T_2^n z_n\| + \|T_2^n z_n - p\| \\ &\leq \|x_n - T_2^n z_n\| + k_n^{(2)} \|z_n - p\|, \end{aligned}$$

we have $\liminf_{n \rightarrow \infty} \|z_n - p\| \geq r$ and hence $\lim_{n \rightarrow \infty} \|z_n - p\| = r$. Observe that

$$\begin{aligned} z_n - p + \nu_n(T_1^n x_n - v_n) &= [1 - (\gamma_n + \nu_n)](x_n - p) + (\gamma_n + \nu_n)(T_1^n x_n - p). \end{aligned}$$

Noting that $\nu_n(T_1^n x_n - u_n) \rightarrow 0$ as $n \rightarrow \infty$, then we conclude that

$$\lim_{n \rightarrow \infty} \|z_n - p + \nu_n(T_1^n x_n - u_n)\| = r,$$

which implies that

$$\lim_{n \rightarrow \infty} \|[1 - (\gamma_n + \nu_n)](x_n - p) + (\gamma_n + \nu_n)(T_1^n x_n - p)\| = r,$$

while we have

$$\limsup_{n \rightarrow \infty} \|T_1^n x_n - p\| \leq \limsup_{n \rightarrow \infty} (k_n^{(1)} \|x_n - p\|) \leq r.$$

Hence, by Lemma 1, we know that $\lim_{n \rightarrow \infty} \|x_n - T_1^n x_n\| = 0$. Noting that

$$\begin{aligned} \|z_n - x_n\| &\leq \gamma_n \|x_n - T_1^n x_n\| + \nu_n \|x_n - u_n\| \\ &\leq \gamma_n \|x_n - T_1^n x_n\| + \nu_n \|x_n - p\| - \nu_n M \end{aligned}$$

and

$$\begin{aligned}\|x_n - T_2^n x_n\| &\leq \|x_n - T_2^n z_n\| + \|T_2^n z_n - T_2^n x_n\| \\ &\leq \|x_n - T_2^n z_n\| + k_n^{(2)} \|z_n - x_n\|,\end{aligned}$$

then we have

$$\lim_{n \rightarrow \infty} \|x_n - T_2^n x_n\| = 0.$$

Similarly, we have also

$$\lim_{n \rightarrow \infty} \|x_n - T_3^n x_n\| = 0.$$

On the other hand, by Remark 1, it is clear that $\lim_{n \rightarrow \infty} \|x_{n+1} - x_n\| = 0$. Therefore, by Lemma 3, we can conclude that $\|x_n - T_i x_n\| \rightarrow 0$ as $n \rightarrow \infty$ for $i = 1, 2, 3$. This completes the proof.

Under additional assumptions, we can prove the following weak and strong convergence theorems:

THEOREM 6. *Let E be a uniformly convex Banach space satisfying Opial's condition and C, T_i ($i = 1, 2, 3$) and $\{x_n\}$ be as in Theorem 5. If $F = \bigcap_{i=1}^3 F_i \neq \emptyset$, then the sequence $\{x_n\}$ converges weakly to a common fixed point of T_i ($i = 1, 2, 3$).*

Proof. Let $p \in F$. Then, by Theorem 5, $\lim_{n \rightarrow \infty} \|x_n - p\|$ exists. Assume that $x_{n_i} \rightarrow u$ weakly and $x_{n_j} \rightarrow v$ weakly as $n \rightarrow \infty$. Then $u, v \in F$. We prove that $u = v$. If $u \neq v$, by Opial's condition, we have

$$\begin{aligned}\lim_{n \rightarrow \infty} \|x_n - u\| &= \lim_{i \rightarrow \infty} \|x_{n_i} - u\| \\ &< \lim_{i \rightarrow \infty} \|x_{n_i} - v\| \\ &= \lim_{n \rightarrow \infty} \|x_n - v\| \\ &< \lim_{j \rightarrow \infty} \|x_{n_j} - u\| \\ &= \lim_{n \rightarrow \infty} \|x_n - u\|,\end{aligned}$$

which is a contradiction. Therefore, we have the conclusion. This completes the proof.

REMARK 2. Theorem 6 includes Theorem 1 of Khan and Takahashi[5] as a special case when $T_1 = I$, where I denotes the identity mapping, $\lambda_n = \mu_n = \nu_n = 0$.

THEOREM 7. *Let all the assumptions of Theorem 6 be satisfied except Opial's condition. In addition, assume that C is a compact convex subset*

of E . Then the sequence $\{x_n\}$ converges strongly to a common fixed point of T_i for $i = 1, 2, 3$.

Proof. Since $\{x_n\} \subset C$ and C is compact, we see that there exists a subsequence $\{x_{n_j}\}$ of $\{x_n\}$ such that $x_{n_j} \rightarrow z$ as $j \rightarrow \infty$. Since T_i is continuous, we see that $T_i x_{n_j} \rightarrow T_i z$ as $j \rightarrow \infty$.

On the other hand, $x_{n_j} - T_i x_{n_j} \rightarrow 0$ as $j \rightarrow \infty$ and so we have $T_i z = z$, i.e., $z \in F$. However, $\lim_{n \rightarrow \infty} \|x_n - z\|$ exists and hence $x_n \rightarrow z$ as $n \rightarrow \infty$. This completes the proof.

REMARK 3. Theorem 7 improves and extends Theorem 2 of Khan and Takahashi[5] in several aspects.

References

- [1] S. S. Chang, Y. J. Cho, and H. Y. Zhou, *Iterative Methods for Nonlinear Operator Equations in Banach Spaces*, Nova Science Publishers, Inc., New York (2002).
- [2] G. Das and J. P. Debata, *Fixed points of quasi-nonexpansive mappings*, Indian J. Pure Appl. Math. **17** (1986), 1263–1269.
- [3] K. Goebel and W. A. Kirk, *A fixed point theorem for asymptotically nonexpansive mappings*, Proc. Amer. Math. Soc. **35** (1972), no. 1, 171–174.
- [4] J. Górnicki, *Weak convergence theorems for asymptotically nonexpansive mappings in uniformly convex Banach spaces*, Comment. Math. Univ. Carolin. **30** (1989), 249–252.
- [5] S. H. Khan and W. Takahashi, *Approximating common fixed points of two asymptotically nonexpansive mappings*, Sci. Math. Jpn. **53** (2001), 143–148.
- [6] ———, *Iterative approximation of fixed points of two asymptotically nonexpansive mappings without compact domains*, to appear in Panamer. Math. J.
- [7] Z. Opial, *Weak convergence of the sequence of successive approximations for nonexpansive mappings*, Bull. Amer. Math. Soc. **73** (1967), 59–59.
- [8] J. Schu, *Weak and strong convergence to fixed points of asymptotically nonexpansive mappings*, Bull. Austral. Math. Soc. **43** (1991), 153–159.
- [9] ———, *Iterative construction of fixed points of asymptotically nonexpansive mappings*, J. Math. Anal. Appl. **158** (1991), 407–413.
- [10] W. Takahashi and T. Tamura, *Convergence theorems for a pair of nonexpansive mappings*, J. Convex Anal. **5** (1995), no. 1, 45–58.
- [11] K. K. Tan and H. K. Xu, *Approximating fixed points of nonexpansive mappings*, J. Math. Anal. Appl. **178** (1993), 301–308.

YEOL JE CHO, THE RESEARCH INSTITUTE OF NATURAL SCIENCES AND DEPARTMENT OF MATHEMATICS EDUCATION, COLLEGE OF EDUCATION, GYEONGSANG NATIONAL UNIVERSITY, CHINJU 660-701, KOREA
E-mail: yjcho@nongae.gsnu.ac.kr

JUNG IM KANG, DEPARTMENT OF MATHEMATICS, COLLEGE OF NATURAL SCIENCES
GYEONGSANG NATIONAL UNIVERSITY, CHINJU 660-701, KOREA
E-mail: 73imi@hanmail.net

HAIYUN ZHOU, DEPARTMENT OF MATHEMATICS, SHIJIAZHUANG MECHANICAL EN
GINEERING COLLEGE, SHIJIAZHAUNG 050003, P.R.CHINA
E-mail: witman66@yahoo.com.cn